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18U/1 i)
No. of Questions : 180
U9l shi HEAT : 180
Time : 2 Hours Full Marks : 450
aug : 2 U2 quTE : 450
Instructions :
fder -

This paper consists of Objective Type Questions and is divided into
Two Sections (I & II) as under.

4E U-UA Fgfaheda g9+l 9 anenfid ® qem @ @ost (1wd 1)
i fawea 8, Srar & = afig 2

(a) Section -1: consists of 120 Objective Type Questions on General
Awareness, Mental Ability, comprehension and subject

Awareness in some major subjects.

Que- 1: H 120 SgaHcdd 995 A 5119, "AFEidE g
aer HB e [Qudl & &9, 9 A €

(b) Section - II : consists of 30 Objective Type Questions on (I)
English Language and (II) Hindi Language.
gus- II : # 30 dFgfasedid U9+ (1) ST =y efw (1) f&=s
qHT & FH 9T HAERE 2 |

A candidate is required to attempt as many questions as he/

she can of Section- I, and Questions on ANY ONE of the TWO
Language papers (I) English OR (II) Hindi in Section - II.
el & omfard B 6 @vs - 199 @98 - 11 & (1) U ar

(1) =<t wrr st A @ FREr O 9T & 99Ai Wl gl
3 P.T.O.
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18U/113/ 180}~

1o

Note : (1) Each question carties,. .l‘fhree) marks. One mark will be
deducted for each incorrect answer. Zero mark will be awarded

for each unattempted question.

gers w9 3 (09 oidl & B 4P Idd IIY Bl @@

SfF FIET AR GAF® AFANG U F ATAEH g 21
(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.

&l I & |

(3) Each question is followed by Four alternative answer (1}, (2), (3)
and (4). One of these answers 1s correct. Sclect the correct and
record it against the relevant question in the ANSWER-SHEET
by darkening the circle with Ball Point Pen as per guidelines.
g 99 F A dehiedds 3o G T & 5 (1), (2), (3) d=
(4) HHAT § F9TET TAT B | §TH A HIA UFH I A HWEl 2| g
Ie? g T 3EE d@hd Hl S-UlEE § aarEe ueq 3
AP AR 3MEa go (TEg) A G | 99 20wl
FHih M3 |
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SECTION -1
qve -~ |

O01. The creator of 'Sherlock Holmes' was ?

(1) Shakespeare (2) Dr. Watson

(3) lan Fleming (4)  Arthur Conan Dovle

eIl Bl & Tataar e o 7

(1) IR (2) 3To dfeq@d

(3) AT B (4) HARYC FA Sraa
02. The Aravalh hills are located in :

(1) Madhya Pradesh (2) Rajasthan

(3) Assam (4) Jharkhand

AUEAT TBTS FHEr e g 7

BRI 2 4 (2) T H

(3] oTEH H (4) wEEE §
03. Suez Canal joins :

(1] Red sea and Arabian sea

(2) Red sea and Mediterranean sea

(3) Arabian sea and Mediterranean sea

(4) North sea and Baltic sea

A e By svedr & 7

(1) & GFTT Ud A" 49

(2) T 9N Ud gHed EGrY

(3) STE AP UF IHA €I

(4) I AP Ug difeesd G

5 T,
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04.

05.

0é6.

Which kind of power accounts for the largest share of power generation

in India ?

(1) Hydro-electric Power (2) Thermal Power
(3) Nuclear Power (4) Solar Energy
Wﬁﬁgﬁwﬁﬂaﬁmﬁzﬁmﬁmﬂ%?
(1) Sefagd o (2) anfra

@) g FHol @) AT Fof

Who was the President of the Constituent Assembly of Independent
India ?

(1) Dr. Bhim Rao Ambedkar (2) Dr. Rajendra Prasad

(3) C. Rajagopalachari (4) K.M. Munshi

e a4 AT Gl T STEHA i 41 ¢
(1) =fo dW 1T r=gHT (2) Zfo W= OdAIE
(3) o VSIFEIIEITE (4) @, vl

Which among the following products is not usually exporied from

[ndia ?

(1) Pulses (2) Sugar
(3) Rice (4) Wheat
=i F B G 391G ARa 9 " FEE G2 far owen @2
(1) =8 (2) A
(3) =Ee (4) g
6
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07. Who among the following headed the 7" Central Pay Commission of

India ?

(1] Ratin Roy (2) Meena Aggrawal

(3) Vivek Rae (4) AK. Mathur

=1 7 A %87 9 & a9 da9 AET H semaEr @ Ay 2
(1) e 3™ (2) HIAT I

(3) fa® ™ (4) U.FH.AwE

)8. Which country has recently declared to impose a ‘carbon tax' from
2019 to cut its greenhouse gas emissions ?

(1) India (2) Singapore
(3) Malaysia (4) Japan

fore 291 5 194 eftaie I/ & Ioasi9 & &9 FA @l gfte T
B W 20199 ‘BrEA ST A FHi AU A T ?

(1) #a (2) FmgR

(3)  HSATSE (4) STU=

9. Which committee has been constituted by the Reserve Bank of India
(RBI) to look into bank frauds ?

(1) Y.H.Malegam Committee

(2) A.K. Misra Committee

(3) Nandkumar Saravade Committee
(4) S. Raman Committee

qdE Rod d% 3 9% g9ragSt @ S 3 e g oty o
e fpar ™ T 7

(1) argoUdo HIGH HHMA (2) UTodo M @iy
(3) F=HHAR Gds afufa (4) Tdo TH @My

7 P.T.0,
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10. Which state has become the India’s first state to opt oul of the Natonal

11,

12.

Health Protection Scheme’ :

(1) Karnataka (2)  Punjab

(3) West Bengal (4) Kerala

FrA-dT T 9T H 9GH Y 8 orae @ @ I WEreed 7l
AT & 3fert han ¢

(1) FHATEH (2) O

(3) afe=H & (4) THIE

Which state is to have India's first artificial intelligence centre ?
(1) Andhra Pradesh (2) Maharastra

(3) Kerala (4)  Tamil Nadu

qe & Teal EA ghedan &= e e § e g 7
(1) STF8I 99T (2) HETITG
(3) A (4) @ffer g

An thin iron needle floats on the surface of water due to

(1) upthrust of water (2) surface tension

(3) viscosity (4) gravitational {orce

2 @ U ol g3 T Al Ade 92 FEH & A qed 7
(1) 91 & IedAEq & SO (2) I dTF & HET

(3) <ATTAT & FHIT (4) UEEENOT g F Ho

collegedunia
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13. The Gandhij Sagar Dam is built on which river in Madhya Pradesh ?

14,

15.

(1}  Narmada (2) Chambal

(3] Son (4) Tapti

A g2 F1 g 998 v e aer g fAfdg 2 2
(1) +Ha1 (2) =T
(3) 44 (4) arelt

Who has been sworn-in as the new Prime Minister of Nepal ?
(1) Sushil Koirala (2) Sher Bahadur Deuba

(3) K.P. Sharma Oli (4) Khil Raj Regmi

AT & AU ueeHe B =7 N Fha oraw & 7

(1) Gt sl (2) AT TG Igam
(3) Hodlo T a7 (4) fEe w= Trfh

w . 5 ,
The population of a city is 9000, g Part of which are males and

remaining females. 40% of males are married. What is the percentage
of married females ?

. 5
Qzﬁsmaﬁmwgooo%ﬁw;ﬂmgm%aﬁtsﬁq%w&
€1 958l 7 40% faanfea &1 afeensit @1 ufae w7 2 2

(1) 40% (2) 45%
(3) S50% (4) 55%

9 P.T.O.
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16.

17.

18.

' ‘ i : ics and J
In a class of 50 students, 35 like Physics, 30 lrlke Mathe‘mf?:is;t &
like none of the subject. How many student like only physics :

=0 wEt A o e # 35 Wil THE I &, 30 MU Wm—d
¥ o 3al 7 | B3 [aud uHe 481 T B PR wE A diad]
qHE Hid © ¢

(1) 17 (2) 18

(3) 15 (4) 16

How many meaningful English words can be made with the help of
the letters IXP using each letter only once in each word ?

(1) One (2) Two

(3) Three (4) None

otz IXP A A 3TeTd} arel STISht & [ erdyel e a7 @ ¥ Af
qerE 31T Y 9 W UEh & ard HArT R ST ¢

(1) (2) a

[ =

(3) o (4) IS A8

N - 9 5
The average speed of a bus 1s 3—2— times the average speed of a tractor.

The tractor covers 532 kms. in19 hours. How much distance will the
bus covers in 13 hours ?

(1) 1286 kms. (2) 1274 kms
(3) 1260 kms (4) 1256 kms

1 o
o aE & SEd A U ae} & SfEd A B 3 I 8| o

19 qu2 ¥ 532 fFfto aF &XaT &1 &9 13772 ¥ ol g8 a4 HE ¢
(1) 1286 fFHT0 (2) 1274 %Hlo
(3) 1260 fFHio (4) 1256 o

10
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19,

20.

21,

22,

18U/113/15(i)

S(?han consistantly runs 515 metres every day. In how many days
will he run 8.24 kms. ? HI

dieq gfafes 515 "2 qrzar 8| fhaw e & gz 8.24 feptiio A2y 7
(1) 24 (2) 18
3) 16 (4) 14

A number series is given with one term missing. The missing number
1S.

T 9ot § o ug g T A THg g2 A

2,3,5,7,11;, ., 17
(1) 12 (2) 13
(3) 14 (4) 15

What is the least number that can be added to the number 1020 to
make 1t a perfect square ?

1020 &1 I o @ & forw aed -t =srem @ s s
ey |

(1) 4 (2) 12

(3) 59 (4) 65

In English alphabet series which letter is the seventh to the right of
the thirteenth letter from left ?

AT JOMHTIST & A & 9 7 a9 F P-T7 9897, 135 o987 3
I Y% 9iad = T 2 7

(1) S (2) - T
(3) U (4) V

B | P:T.0,
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23. The position of how many digit

24.

25.

s will remaing unchanged if the digitﬁ irl
number 3564798 are rearranged in ascending order from left to right :
(1) None (2) One

(3] Two (4) Three

TFr EeE 3564798 B il Bl ad ST HH § AT A
Al e ofhl & I & ?

(1) e T (2) ©H
(3) « (4) i

P is daughter of R. R is the father ol T. T 1s the l:uabeflid of S. S is the
mother of Q. W is mother of T. How is Trelated to P ?

(1) Son-in-law (2) Brother
(3) Sister (4) Husband

- a1, s Hufd 818, 0Q H AR F W
prRa|EABIRTH A EIT,S H U &18,0% ‘
‘raﬁm?ﬁIT,Pﬁﬁﬁﬂﬂ%ﬂWﬁﬂﬁﬁf

(1) &M= (2) 93
(3) =& (4) dfa

= F e o 8 )
[n a school, 10% of number of boys 1s Eui number of girls and 10% of

number of girls 1s Y] of number of boys. What is the ratio of numbet

of boys and girls ?

TR P
o Frerer § @@ I GE& & 10%, TSRl B G o T g

4

_ : ; [
agﬁ;ﬁa%maarlou@méﬁrmmgaamam
aefeat # e W STa 8 7

(1) 2:1 (2) 3:1

(3 4:3 (@) o:2

12
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26. The sum of three consecutive even numbers is 50 more than the

27.

28.

diference between first and third number. What will be the ratio of
sum of first and second numbers to third number »

a“mwmﬁwaﬁwrhﬂ%ﬁﬁamfﬁﬂﬁﬁ@r%amﬁ
50 it B | UBell oM g@di gl & Aw wr dwad dear §

ST BRI 7
(1) 4:5 (2) 17:18

(3) 17:10 (4) 7:4

If A is substituted by 2, Bby 4, C by 6, D by 8 and so on, then what
will be the total of the numerical values of the letters of the word

REIFY ?
(1) 63 (2) 71
(3) 73 (4) None

aﬁAﬂ%Q%@m%,Ba%4%@Tw%,ca%6%@aﬁn%
-3%?03%8%@1%%aﬂ?aﬁmﬂﬁaﬁmmrﬁww
& o 9% REIFY & & &7 a1 a1 e ?

(1) 63 (2) 71
(3) 73 (4) HIF TS

What will come in place of question mark (?) in the following series ?
JC, KD, LE, NG, OH, (?)

(1) QJ (2) OH

(3) PI (4) RK

13 P.T.0:
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Ereifaiaa A@ar # gedarae (?)%wmtnwena’n?
JC., KD, LE, NG, OH, (?)
(1) QJ (2) OH

(3) P (4) RK

29. Ram is elder than Shyam, Radhaswami is younger than Shvam. It

Wilson is elder than Shyam, than who is youngest in all ?
(1) Ram (2) Shyam

(3) Radheswami (4)  Wilson

W,swﬁw%,ﬂwﬁ,swﬁ@a%,aﬁmm,amﬁ
W%,ﬁaﬁsﬁmaﬁm%?

(1) TH (2) 2H™H
(3) Tl (4) FaaEd

30. Fill missing number in the blank spaces.

a@wﬁwaaﬁmﬁwﬁ%

1,0, ,8,15,24
(1) 4 2) 3

(3) 2 (4) 1

14
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31.

32.

33.

18U/113/15(i)

If the sum of two nNumbers is 15 and the sum of reciprocals is 3/10:

the numbers will be -

A A Tt F AT 15 ¥ g A @ SAHAT B AT 3/102; &
g Bl

(1) 4,11 (2) 6-9

(3) 8-7 (4) 10-5

Five students are sitting in a queue. Manoj is in the right of Pravcen,
Premprakash is in the left of Sontosh, Shailesh is in the middie of
Premprakash and Manoj. Then who is in the left of al] ?

(1) Praveen (2) Manoj
(3) Premprakash (4) Santosh

e BT UF 3 H 92 ¥ ) 51, 949 B ardi i, I uaer gy
® AT AT e AR, I gwer AR wAr & A =7 B a9 wan
A1 AT B JaT B 7

(1) udr= (2) HAIS
(3) O gehreT (4) Hdg

In a coding language, PALAM is written as 43, then SAVITACRUZ

should be written as :

FE AL H PALAM @ 43 foren ¥, a9 It ge s
SAVITACRUZ &l for@n siaem :

(1) 124 (2) 125
(31 126 (4) 140

15 2.T.0.
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34.

35.

36.

37.

Find the missing number in the given geries °

100, 91, 83, 70

& Aoft F g ofh H T AWM

100,91,83, 70
(1) 72 (2) 75
(3) 76 (4) 77

If CBE means BAD, then GMBH will mean :

af> CBE &1 21°f BAD & d GMBH il 37T BT
(1) FLAG (2) FLOY
(3) FOOD (4) GOOD

If 5x4=15, 6x5=24, 7x8 is 49, then what will be the value of 8x4 ?

afE 5x4=15, 6x5=24, 7x8 is 49 &1, T 8x4 & HH T 2N 7
(1) 24 (2) 28
(3) 32 4) 36

The smallest number when divided by 20,25,35 and 40 leaves the
remainder 14,19,29 and 34 respectively ? The smallest number is :

7= B1E @ B den aar & et 20,25,35 AT 40§ faAT fahar
A ot HHS: 14,19,29 TAT 34 T BRI 7

(1) 1664 (2) 1406
(3) 1404 (4) 1394

16
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38.

39.

40.

41.

18U/113/15(i)

Six bells commenece ringing together and subscquently rings are at
an interval of 2,4,0,8, 10 and 12 seconds respectively. In 30 minutes.
how many time will they ring together ?

8: uf-Tdl U | g9 U HTH T HHA 2.4.6.8.10 §47 12
THE % ST U ol B 1 30 foeie ¥ fpad A ue amr g v

(1) 4 (2) 10
(3) 15 (4) 16

Which of the following numeral pair is different from other ?
rMfefEd e gral § Se-a1 o 4 B 27

(1) 83-75 (2) 58-50

(3) 49-52 (4) 25-17

Which number would replace mark (-} in the series 7,12, 1G,(~), 39 ?

ot 7,12,19,(-) , 39, & HF-T1 TEw fre () & e ey ?
(1) 29 (2) 28
(3) 26 (4) 24

What percent of 1 day is 36 minutes ?

g B9 & 36 Mee #r=-ar ufdeE & 7
(1) 25% (2) 2.5%
(3) 3.6% (4) 0.25%

1 b ] P.T.0.
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ination < arks are ne ass. A student
42. In an examination 36% marks are necded to pas

43.

44.

gets 145
marks and fails by 35 marks. The maximum marks are :

a e § 36% 3 F TEvaEAl Il Al o {1 Uh e )
1 145 305 grer 2 ¥ ol g 35 3 A STgwiel e Al & | FI
F arfsad iF ¢

(1) 400 (2) 450

(3) 500 (4) 600

Carbohydrate is stored in both liver and musclc as .

(1) Glucose (2) Starch

(3) Glycogen (4) Sucrosc
m‘ﬁtzﬁwqﬁwmﬁﬁ&mwﬁﬁaaﬁﬁmwm%?
(1) T (2) Tl

(3] TeAEERIA (4) 9l

Animals having capacity of body temperature maintenance arc .

(1) Aquatic (2) Cold-blooded

(3) Warm-blooded (4) All of these

oTfIT & ATTHT Y S @A Pl AHAl a1 SHaY Bid 8

(1) SirET (2) ol Yadga
(3) TH TG (4) IULE "
18
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45.

46.

47.

48.
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Which of the following micro organism is used as biofertilizer ?

(1} Cyanobacteria (2) Protozoa

(3) Virus (4) Nematodes
ﬁ#ﬁf@aﬁﬁaﬁﬁ@rﬁmﬁ%ﬂm%mﬁmﬁﬁ%?
(1) @Er et (2) HiErsta

(3) ey (4) s
Which one among the following is not a cash crop ?

(1) Tobacco (2) Cotton

(3) Soyabean (4) Rubber
FrfefEd § @ ®F-91 0% T4 bae 981 8 ?

(1) d=1gH (2) =HITH

(3) @EATE (4) @&

Which one of the following is not a greenhouse gas ?
(I} Methane (2) Nitrous oxide
(3) Chlorofluoro carbon (4) Hydrogen
Ml § F9-d1 99 arsq g 98 & 2

(1) #g= (2) AEEH RS

(3) A I FIEA (4) BIZSISH

Of the following which one pollutes the air of a big city ?
(1) Copper (2) Chromium
(3) Lead (4) Calcium

19 P.T.O.
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49.

50.

ﬁmﬁf@ﬁﬁﬁﬁﬂ@sﬁﬁa@aﬁgﬁam%?

(1) &t (2) I

(3) dran (4) Hfeaay

The 'Red Data Book' keeps a record of all the

(i) endemic species (i1) extinct species

(iii) endangered plants (v) endangered animals
(1) 1&1l (2) il & iii

(3) il &1v 4) 1& 1w

Fg et g Frefiad &l Eeeer el @

(i) Tenfee geriadr & (i) get wetfaEr @
(iii) fagema digl @ (v) AgaurE oo @
(1) 1&1 (2) u & i

(3) i &iv (4) 1&1v

The amount of water recommended by the United Nations for drinking
washing, cooking and maintaining proper hygiene per person per
day is a minimum of :

(1) S litres (2) 15 litres
(3) 30 lhitres (4) 50 Iitres

ﬁgﬁﬁmmﬂtﬂﬁ,%ﬁﬁ,wmﬂﬁa?ﬂﬁmmwmqﬁﬁzﬁ
qfy =gt gfafed =g=am fbad 9 @ sl @ 1@ & 7

(1) 5dmeY (2) 15deY

(3} 30 deEX (4) 50deY

20
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S52.

53.
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What do black buck, elephant, python and golden cat together
represent in a forest ?

(1) fauna (2) ecosystem

(3) flora (4) species

AT G, &, AR, MeSq de B 7 a9 F frger gfaffae
HA & 7

(1) Sq 998 (2) uiRfFefas &
(3) FHfe (4) wATRY
On which of the following day is 'World Water Day' observed ?
th
(1) 22" March (2) 14" November
th
(3) 2 October (4) 21" December
FfeiiEad ® | fFa os @ fasa oo Raw’ & =g F g9my sy & 2
(1) 22" (2) 14 Fg%=T
(3) 2 FgET (4) 21 RE=w
Which of the following is the main function of kidney ?
(1) Passive absorption (2) Ultrafiltration
(3) Selective reabsorption (4) Both 2 and 3

Fr=fefaa & gop &1 SHi-9r @t & 7
(1) Ffera sioor (YT oemeEe)

(2) 9B
(3) =AM gA:QmaT
(4) 2Td 3aMl

21 P.T.O.
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54. The most imporiant function of heamoglobin 1s :

SS.

56.

(1) Its red color

(2) Presence of iron

(3) To combine reversibly with oxygen

(4) Presence of basic protein globin

S a1 wead gyt & de-ar © 7

(1) 39 A 2

(2) ©E i ITAEAT

(3) IEHI AT & A IobH FAEE &/ AFAT
(4) g HIEE AT @l YT

Which of the following decreases during aerobic exercise ?

(1) Mean blood pressure (2) Circulating blood volume
(3) Cerebral blood flow (4) Skin temperature
HieRfpd = e § fr=fafaa § 9 @0 gear 2 7

(1) 3TEd &A=

James D. Watson and Francis Crick are associated with the discovery
of :

(1) Vaccine (2) Structure of DNA

(3) Anti-malerial drugs (4) Penicilline

S S, aread aur wired e @ @y Fefatad 9 @ e @
qaev?

(1) o= (2) DNA & Hy=HET

(3) wHaraEr famwes sty (4) ufafeeis
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S7. What is the role of anti-oxidants in human system ?

S58.

59.

(1} They promote vitamin synthesis.

(2) They prevent excessive oxidation of carbohydrates, protein and
fat.

(3) They protect cells against the effects of free-radicals.

(4) They activate certain genes which delay the aging process

HEg §= H 9fd-STariemeht &1 & a7 2 ?

(1) Je [eifde d99duer & g2 & |

(2) FE FEIEIFZE, T T 961 B STAUF SNFRINFCT F 63
e

(3) a® HHI HAHl ® GHEG A HBHIAEHIST F Farg B

(4) =& omgdfa afekar # w7 3N A o= #r afeg F@ ¥

Which of the following chemicals is/are used for the sedimentation
of impurities in water ?

(1) Alum (2) Urea
(3) Sederite (4) All of the above

mﬁaﬂmﬂwmﬁmmﬁ%%ﬁﬁnﬁmaﬁmw
& 9q0T fepar & 7

(1) U™ (2) giE

(3) GA3=T (4) IEE a9
Hemophilia is a :
(1) Deficiency disease (2) Harmonal disease
(3) Fungal infection (4) Genetic disease
23 P.T.O.
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(1) g=ar Sifed 2 (2) BmiE SAtd 2
(3) FAPHIA TAFHHAT (4) ergaiteEs AN

60. Hepatitis is :
(1) Inflamation of lung tissues
(2) Inflamation of liever due due to viral infection
(3) Inflamation of brain memabranc
(4) Bacterial disease causing choking of throat

gurfeaigfeq B ¢

(1) BTHE FHeh H G-

(2) qrTE dEHETT B BT A H Jord

(3) witaes @ el d§ o

(4) ‘:ﬁ'crrﬂlﬁrﬁamﬁxrﬁ‘fv%?ﬁt weifera FoAT B

61. The branch of science which deals with tumors is called as ?

(1) Serology (2) Oncology

(3) Chromology (4)  Urology

Fyar & omrEr S S (FEET) BT AT BT L, FEAAl 8
(1) G (2) TRl

(3) ZRIMTGATSH | (4) g

62. Which one of the following is not a deficiency disease ?
(1) Simple goitre (2) Night blindness

(3) Colour blindness (4) Beri-Berni
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Freafafiaa & & @H-ar goar Ay 98 B 7
(1) HRY gy (2) <ateft
(3)  aori=era (4) ad-=f

63. Which of the following is a protein deficiency disease ?
(1) Cirrhosis (2} Night blindness

(3) Eczema (4) Kwashiorkor

et & @[ & dard OdE & = 3 B g 7
(1) fgarEd (2) <L
(3) aigsTHI (4)  FEiIarTHT

64. Jaundice may be caused by retarded funcition of :
(1) Lungs (2) Kidneys

(3] Heart (4) Liver

diferr 1 ® fopd & & des1 & SHeor 2y 2 7

(1) BHST (2) FFH
(3) &d (4) T

65. Trans fat is generally considered to be bad for human health because

it lowers the level of :
(1) HDL (2) LDL

(3) Triglycerides (4) Insulin

25 P.T.O.
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66.

67.

68.

T @ & R i Aan Gead: e, i i e

98 W &Y HEr 8

(1) HDL & (2) LDL #T
(3) TrRaEses & (4) FGferT @M

The vitamin which contains cobalt 1s :

(1) B (2) B

i Y
(3) B, 1l B,
e e #idiee @
(1) (2) i,
(3) i, (4) 1,
In surgery, what is arthroplasty ?
(1) Open heart surgery (2) Kidney transplant
(3) Hip-joint replacement (4) Blood transfusion

oeg frgr § el © .
(1) &3F @l ol eaihar (2) gHb TEIRIYY
(3) ol - Mg & dfewmos (4) R ST

What percentage of World's population lives in India ?

fasa s1qdEr & foraa afae ar wa 7 fag a9 8 7

(1) 12.5% (2) 17.5%
(3) 20% (4) 25.5%
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18U/113/ 15(i)

According to 2011 census, the most populous city of India is

(1) Bengaluru (2) Kolkata

(3) Delhi (4) Mumbai

2011 STATOFT & AJAR Halfees STHEEn aen qedy 9ed ©
(1) TS (2) hIcTeRIaT

(3) faesh (4) =g

Which of the following statement (s) about Uttar Pradesh is are correct ?
(i) UP has the highest rural population
(i) UP has the highest scheduled caste population
(iif) UP has the highest scheduled tribe population
Select the correct answer from the following options
(1) 1and ii only (2) 1and iii only

(3) ii and iii only (4) 1,ii and iii

Frafafaa § & I©R 92 & =g ¥ $19 91 %49 99 8 7

(i) gaffees AT SEEET 3o%o ¥ Far &t B

(i) waifys sTggfaa sufa & s9EEn Jodo | A &yl 2

(iii) TEiyE ST TG H THEAT Jo Yo F farg #dt B
FrfafEaa [@eedl § | @8 3ae =Fafha s

(1) i37¥ii Had (2) 13T iii Haa
(3) i 3T iii e (4) i ,ii ST i
Continent with highest population after Asia is :
(1) Europe (2) Africa
(3) North America (4) Australia
27 | o it 8
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cigrn @ ar adtias T e welal v

(1) g (2) HKlbi
(3] Il FAATHI (4) e TarEn

2. The office of the Registrar General and Census Commissioner conducts
the census in India. It s under which ministry / body ?

(1) IMOSPI] Ministry of Statistics and Plan lmplementation

(2) Minmistry of Homc Affairs

(3) Prime Minister Office

(4)  Planning Comimissian

ks B B e KA i R =1 Sl ol A B R 2 e e O LR B SR R R
g FrA B 98 A uae M Eosidia e @ o

(1) Hifremast wd AT ERAarads A

(2) e HATEH

(3)  uaT HAT hryery

(4)  AAAT H1Am

3. Which of the following state is the largest producer of Rubber 2

(1) Kerala (2) Karnataka
(3) Tamil Nadu (4) Andhra Pradesh
fy=ifaifag § 4 9 |49ifas a9 3eEs ey 2 7
(1) = (2) @l
(3) afFerEg EYRRC 115 s C47
4. Which of the following pair is incorrect ?
(1) Khetr1 - copper (2) Mica-Hazanbagh
(3) Panna - lignite (4) Kolar - Gold
28
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FoAateiaa & 9 g7 I eAaq 2 7
(1) @ - dfen (2)  HAYH-BATEET
(3)  9II-fereige (4)  BIFAR-FNAT

Insulnt is requiied tor the conversion of
(I} Glycogen to Glucuse (2] Glucose to Glycogen

(3}  Amino acids to Protein (4) Protein to Amino acids

fFe: wqraeer & f@o g=gfae sigeas B ?
(1) TSRS & TJeplat (2) TR A TLFIST
(3, 3P ufas | didE (4) UIFF A YT ofgs

Which acid imparis soun taste to curd ?
(1) Acetc acid (2) Lactic acid

(3) Sulphuric acid (4) Formaldehyde

a8l %l HF-T JWT @2 GIF FIAT B 7

(1) ufgie® ufge (2) Af=F ofgs

(3) HEHgIH ufgs (4; BTG 8Es
Which hormone ripens the tiuits ?

(1) Ethylene 12)  Gibberelline
(3] Cytokinin (4) Auxin

HIF 9T BLHIA Bl B gHEr & 7
(1) ZATS (2) Efeas
(3) aAESHEEEA (4) SifErE

29 P.1.0.
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78.

79.

80.

81.

Which planets do not have moons ?
(1) Mars & Venus (2) Mercury & Venus
(3) Jupiter & Mars (4) Mercury & Mars

Grer el @ d=H el & 7

(1) T qur Y (2) & aA Th
(3) Fewia aar "7 (4) & AT W
Who was the first woman to reach space ?

(1) Kalpana Chawala (2) Sunita William
(3) Valentina Tereshkova (4) Bacchendri Pal

A_dt Afear wduey oaie § ugdr At ¢

(1) @1 arde (2) g
(3) Aferfear 2¥wpaT (4) @@=l HIET
Which planet has the most volcanoes ?
(1) Venus (2) Jupiter
(3) Mars (4) Moon
fpm Te 9¥ gad s s € 7
(1) 2A® (2) FgsWida
(3) HIA (4) ==HI
What is the orbital period of Moon ?
(1) 27.3 days (2) 24.3 days
(3) 30 days (4) 28 days
30
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A=A FT Fefig omafy o7 &7

(1} 27.3Rs (2) 24.3 &=
(3) 30R"T (4) 28 fa=
Where is the 'Edge of Space’ located ?

(1) 80 kms. above the sea level
(2) 90 kms. above the sea leve]
(3) 100 kms. above the sea level
(4) 110 kms. above the sea level
‘A & fEARY el Raa @ 7
(1) ¥9% a1 & 80 fhoHlo FWX
(2) | a5 | 90 fFotio FHuv
(3) €= asl § 100 Fhodio F4T
(4) @9z a1 4 110 oo Fux

[n human beings perspination oceurs when body temperature is warm

and :

(1) Precipitation is low (2) Precipitation is high

(3) Humidity is high (4) Humidity is low

qgsat # qEET Moot & S| o @ argsy T @ar B oaern
(1) a9t &9 8 (2) aut e

(3) oTEar iy B (4) ITEAT FHY B

31 P.T.O.
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e B ¥ ey TN - ll:-u'.
84. Process by which water vapors are relcased i air by leaves ol plai
i called -
(1) Respiration (2) Precipitation

(31  Evaporauon (4) Transpiration

e e o T8 afeerdl &1 ot Aot AR ATgHTA H SR TS
7 el &

(t1 A4 (2) a4l
(3] A9 (4) IAdET

85, Fifth layer of earth's atmosphere 18 §
(1} Exosphere (2) Mesosphere

(3) Thermosphere (4)  Tropusphere

qedl & argEs @l el 9T wedrdl §

(1) AleHLT (2) #H= (o]
(3) dgHST (4) &frHEsl

86 IPlaces located near sca experiences the
(1} Cooler Summers (2] Warn:wer Spriags

(3) Warmer Winters (4) Both 1 and 3

mE F e fead wE 9y A @ o

(1) =21 4 (2) TH FHd
(3) IEH A (4) F9Ed | 3T 3 2T
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87. Which date is called as 'Vernal Equinox' ?

88.

89.

(1) March 21 (2) February 20
(3) April 17 (4) May 8

P # ar-d fafer ‘ada R[ya’ seardn g 7

(1) ==t 21 (2) wEd 20
(3) o 17 (4) =2 8

Fossil fuels are obtained from :

(1} remains of non-living materials
(2} dead remains of birds only

(3] dead remains of insects only

(4) dead remains of living organisms

SHrarew Sy urd FEr Smar §
(1) Fefa awgstt & s@agdi 4§
(2) A ERN B ga EemMi A
(3) Haer H2l B gF TN A
(4) ot & g SFAI A

18U/113/15(i)

Which one of the following statements is (rue about the Biosphu

Reserve' 2

(1) [tis a protected area where only endemic species live

(2) It is meant only for the conservation of plants anit ammals

(3) It is meant to conserve both- the biodiversity and the culture of

that area.

(4) . There are no other protected area within its limits.

33
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92. Which of the following pair is not a correct match ?

93.

94.

95.

(1) Rajasthan - Marble (2) Gujarat - Granite

(3) Assam - Petroleum (4) Jharkhand - Coal

Fretfefae St & @ @ @ g e 7@ B ?

(1) TSTRYE - HTHET (2) eI - IR

(3) ITHH - Ugiferad (4) @GS - HIFAT

Which 'Varna' did ‘Matang' belong to ?

(1) Brahmana (2) Shudra

(3) Kshatriya (4) Vaishya

‘g fBe ‘gol’ | gy @A o9 7

(1) SEHT (2) YR

(3) “fEE (4) 9%

'Hathigumpha Cave' inscription is associated with :

(1) Ashok (2) Chandragupta I

(3) Harshavardhana (4) Kharvela

BrfpET T SE @Rl

(1) LM (2) TEJC TAH

(3) BdgHH (4) @rRad

The founder of 'Wahabi Movement' in India was :

(1) Abdul Wahab (2) Jawaharmal

(3) Syed Ahmad (4) Shah Wallullah
35 P.T.O.
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i anvese & wadt § Frefarad # | HiA-an At 4ol

e 7

(1) =& & &" B et dae A Sifd Tedl ¥

(2) F& Fae N uay e B HeAvl & fod ugead eldi 6 |

(3) e Sa fafauar uayg 39 a9 F Awpia w Gied & & e
el

(@) ZEF AT & STl g TEa A= Fqe erar

90. Which of the following is not obtained from coal ?

(1) coke (2) coal tar

(3) coal gas (4) CNG
Fereafafiaa 7 & 9 @1 Higen d A8 9id e
(1) =M (2) AR

(3) AT and (4) #0950,

91. The place meant for conservation of biodiversity in their natural habitat

arc :
(i) Zoological garden (ii) Botanical garden
(ii1) Wildlife sanctuary (iv) National park

(1) 1&n (2) 11 & iii

(3) i & iv (4) i&iv

yiepfas arg ¥ Sta fafquer @ d@fem w39 & [ 2 gar @
(i) aifr SEmE (FAEfEEmr) (i) AFEIaE 3

(il) =g T JAHIoY (iv)] T FEn-
(1) 1&ii (2) i & iii
(3) m&iv (4} 1&1v
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96.

V7.

98.

Pre ad § wifers WewE srEdr A gemEd Al 501 7

(1) 3A=Ed qeid (2) SHEIEIHA

3) TEE IEnT (4)  onTe AISTare

Where the dead body of Mumtaz Mahal, queen of emperor Shahjahan,
was buried first ?

(1) Daulatabad (2) Agra

(3) Hyderabad {(4) Burhanpur

ATZINE QMESTEl &l T JHATA Heal & qida 9d17 &l g e 9w
ed SHAEl TET A7 7
(1) erearEns (2) &I

(2) ETIER (4) FTEHYR

How many '‘Samsakaras’ are there in the Hindu religion ?

ferg gd H fpae ‘dEmd @ia € 7

(1) 16 (2) 15

(3) 14 (4) 13
Where was the first 'Buddhist Council' held ?
(1) Patna (2] Vaishal
i(3) Rajgriha (4) Kashmir
YIH grs Wi’ @ IS Hal g Yl 7
‘1) e (2) Q9T
(3) TIE (4) FHIHIT
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99. Write the name of the dynasty under whose reign the Khajuraho
temples were built ?

(1) Chauhan (2) Parmar
(3) Gurjar (4) Chandel
IH UL T AW T B e w7 @epe Sy g e
3T &1 ¢
(1) = (2) 9
(3) T (4) e
100. Which country Ibn-Batuta came from ?
(1)} Syria (2) Moracco
(31 Jordan (4) Sudan
geA-agdr fhd 291 9 qar °r ?
(1) Hifan (2) HIXEH
(3) = (4) gsIH
101. Name the author of the book Vikramankadevacharita' :
(1) Kalhana (2) Bilhana
(3) Vishakhdatta (4) Varahmihir
(1) Heavl (2) faeavr
(3) fasmEeEs (4) arreEfeET
102. Who contained Sanyasi Revolt is Bengal ?
(1) Lord Mcaulay (2) Warren Hasting
(3) Lord Rippon (4) Willilam Bentinck
37 D
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gmer § geardt e @ fEas e 7

(1) @rE AFre A (2) ane 2=

(3) @re o | (4) Ry afes 3
103.Which country influenced the Gandhara arts ?

(1) Iran (2) Greece

(3) Rome {4) Greece and Rome

PR 2T 1 YN WYX HAT 9T & ¢

(1) 24 (2) T

(3) (4) T AT AH
104 . Which modern city is identified with Polibothra ?

(1) Patna (2) Vaishah

(3) Rajgir (4) Varanasi

foper amefores 9te¥ &l ueae diferarem @ &1 Sl 2 7

(1) 9e= (2) s

(3) el (4) aTOTHL

105. Who established 'India league' in 1875 :
(1) Sisir Kumar Ghose (2) Anand Mohan Bose

(3) Surendra Nath Banerjee (4) Justice M.G. Ranade

1875 # ‘Efzam o &t wiusr fFEs &6 ?
(1) fafere AR =99 9 (2) 3= HEd a9
(3) Y= A gl | (4) =EEfd oq.55. e
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106. The first Satyagraha experiment of Gandhi jec in 1917 was at :
(1) Ahmadabad (2) Champaran
(3) Kheda (4) Chaurichaura

49 1917 5 wisht St o1 gow deme g4@e o ¢

(1) 3TB8HeERE H (2) FTH H
(3) TreT H (4)  FEERT A

107.Who said that the Aryans came to India from the North pole ?

(1) Lala Lajpat Rai (2) Bal Gangadhar Tilak
(3) Max Muller (4) R.C. Majumdar
fraq wer b o s # I ga |/ A F 7

(1) I S T (2) AT T erh
(3) e T (@) s . wEET

108.The first highest civilian award of India '‘Bharat Ratna’' was given to
(1) Dr. Bhagwan Das
(2) C. Rajgopalachari
(3) C.V. Raman
(4) Dr. S. Radhakrishnan

WITd I Fared ANMeE R CNIRG T @99 Bl @I oA

(1) =f. sFEE &g H
(2) & TETYEET Hl
(3) .4 ™ o

(4) 7. Tq. THHET B

39 P.T.O.
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109. Whicl was the first country to invade India 1n ancient period
(1) Iran (2) Grecce
(3) China (1) Great Britam

mﬁmaﬁrﬂﬁwvnmaﬂwm%ﬂr%ﬁmm?

(1] &+ (2) FA
(3) A (4) Te fge

110.Which of the following 'Samskaras' was perlormed before the birth of
the child ?

(1} Samavartana (2) Upanayana

(3] Pumsavana {4) Chudakarma

Freifafae § & €M-a1 G@Er @ & 5 9 gd @9 fEn S

o 7

(1) @HESA (2) IuFaA

) gHad (4) FSTHH
111.Commanwealth games, 2018 will be held at -

(1) Glossgow, Scotland (2) Gold Coast, Australia

(3) Auckland, Newzealand (4) Hamiltan, Canada

FAET T, 2018 HEITHG R SR

(1) TeTg, @hieavg o (2) Mes FR=E, Aretaar

(3) cifacoe =geilevs # (4) Bfieed, Fmer |

112, From which country did Megasthanese come to India ?

(1) Egypt (2) Syrna
(3) Rome (4) Greece
40
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HAeRrioT fohe 291 & WA 3 ear 7
(1) & (2) difar

(3) 4H (4) T

113.Stupa is associated to which religion ?
(1) Jainism (2) Hinduism
(3) Persian (4) Buddhism

(U bl G R 4 9 8 7

(1) S+ ad (2) foeg ad
(3) 9redis (4) ez od

114. Swaythling Cup' is given for :
(1) Table Tennis (Men) (2) Table Tennis (Women)|
(3) Golf (4) Badminaton
et w9 RBar S @
(1) e 2E (399) (2) e 2 (759)
(3) NS (4) asfie

115. Fahien came to India during the reign of which king ?
(1) Chandragupta Il (2) Kumargupta
(3) Ashok (4) Chandragupta Maurya

Frear fha TS & AEA BE H ARG @ A

(1) ==« fEE (2) FI
(3) 39MH (4) == HHE

41 P.T.0.
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116. Namc the author of 'Meghadootam® :
(1) Tulshidas (2)  Banabhatta

(3) Kalidas (4) Bhasa
WEdn' & e AW AR
(1) grraEry (2) @arTHEE

() ahllarerd (4) I

117. Prayaga Prashasti’ throws light on the victories of which king ?
i1j Chandragupta | () Samudrasipta

(3) Kumargupta (4) Skandagupta

gaet g’ A 69 o & faagi 97 ueRer g9gdr & 7

(1) == A4 (2) 9=
(3) HHIT T (4) <«

118. Mothers' Absolute Allection (MAA) programme is mcant for promoting :
(1) Hygicne & Sanitatian (2) Breast feeding
(3) National Unity (4) Gender justice
HETH TEERAS ABHR (TH.0.T.) I bl 3G9 B
(1] AT Ugy Iesdr &l 9r=d HAl
(2) AT FI AT BT
(3) YIRS Ul B G AT
(4) SRR FIE W 9 BT
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119.Who led the first 'Arab invasion' on India ?

(1) Mohammad Bin Qasim (2)
(3) Mohammad Gori (4)

Subuktgin
Babur

ARA I¢ U2IH ‘ST BT 1 Ade fea e =n 7

(1) He™s 9w (2)

(3) HiE™E Il (4)
120.Who wrotce Priyvadarshika ?

(1) Rajyavardhan (2)

(3) King Bhoj (4)

feferm fEaa e or 7

(1) a8 (2)

(3) Lt AT (4)

43
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SECTION - II

gves - Il
Language - English
[For the candidates opting English Language]

Note :

Four alternatives are given as possible answers to each question.

Give the correct choice as an answer.

Direction (Q.No. 121-124) : Sclect the word nearest in meaning to

the given word :

121. Industrious

(1) Hardworking

(3) Workers
122. Lethargic

(1} Lethal

(3) Energetic
123.Melancholy

(1) Melody

(3) Song
124.Tyrannical

(1) Dictatorial

(3) Brave

Direction (Q.No. 125-128)
the given word :

125. Predator
(1) Before
(3) Prey

(2) Factory

(4) Crowd

(2) Dangerous
(4) Lazy

(2) Sadness
(4) Music

(2) Bold

(4) Charming

: Select the word opposite in meaning to

144

(2)
(4)

Ancient
Teacher
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126.Slingy
(1} Strange (2) Generous
(3) Softly (4) Sternly
127.Subtle
(1) Soft (2) Obvious
(3) Stubble (4) Rough

128.Discord
(1) Dispute (2) Discussion
(3) Debate (4) Harmony

Direction (Q.No. 129-132) : Select the correct meaning of the given
idiomatic expressions :

129.0Once and for all
(1) Rarely (2) Usually
(3) Finally (4) Often

130.With flying colours
(1) triumphantly (2) happily
(3) deliriously (4) fast

131. Brownie point
(1) Demerits (2) Disadvantage

(3) Praise (4) Dispute

132.A grey arca
(1) Something that is easy
(2) Something that is difficult to define

(3) Something that is interesting
(4) Something that is funny

45 2.T.0
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Direction (Q.No. 133-136) : Select the right word to fill in the blanks

in the given sentences .

133.Coach Kiran tried to .....ccveerannsnoss his team to try harder in the face
of overwhelming odds.
1} Exhort (2) Call
3)  Ask (4) Plead
134.The professor became so forceful, so ................ in his expression of
opinions, that students began to leave his course.
(1} Angry (2) Violent
(3) Abusive (4) Dogmalic
135.The Jury .....ccocoivarens the mayor of all wrongdoing.
(1) Exoncrated (2) Excommunicated
(3j Executed (4) Encouraged
136.The women basketball team's perfect season .................. in a
championship win over the men's team.
(1) Culminated (2) Climaxed
3) Conquered (4) Success

Direction (Q.No. 137-140) : Choose he correct option to form the
richt sentences :

137.1 always keep .........cu.. word.
(i) Her (2) My
{3) His (4) Their
T L TR R wants to go swimming at the beach when the weather is
nlee,
(1} Someone (2) No one
(3) Anvone (4) Evervone
46
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| o SR she signs these papers, she will get the loan.
(1)  Unless (2) Therefore
(3) So (4) If
140.A ....... of cattle was grazing.
(1) Herd (2] Team
(3) Crowd (1) Packel

Direction (Q.No. 141-144): Sclect the part of speech of the underlined
word in the given sentences :

141. Remember to drive safely.

(1) Noun (2) Adjective

(3) Adverb (4) Verb
142.Don't raik like that.

(1) Adverb (2} Verb

(3] Adjcctive (4) Noun

143.We have pens, pencils, notebooks and markers.

(1) Preposition (2] Verb

(3) Adjective (4) Conjunction
144.This is a pretty vase.

(1) Adjective (2) Noun

(3) Adverb (4) Intensifier

Direction (Q.No. 145-147) : Fill in the blanks with the correct

preposition :
145.We had a meal .. a restaurant :
(1) 1in (2) at
(3) under (4) above
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146.So the McDonald brothers thought

hamburgers more quickly.

(1)
(3)

147.McDonalds is also known
international sport events :

(1)
(3)

of
in

About
On

----------------

4)

..............

In
For

Direction (Q.No. 148-150) : Select the word which has been correctly
spelt :

148.(1]
(3)

149.(1)
(3)

150. (1)
(3)

recard

surrander

salacious
chivalrous

anonymous
solemm

48
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(2)
(4)
(2)
(4)

annay

accord

gracios

delicious

sumptuious
sommnabalist
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SECTION - II
gqus- 11
A - fedl
Bl w\mer &1 =99 &9 9 vl & g

A gl Yol & SR-ER d@iegs 3 e o F, i ad
I U TH o | 39 FEl I«T H g

151. ‘T &Hdht & FEEY [FEH wEr B 7

(1) g™ ot (2) I FEHIT [HE
(3) oM STe=m @l (4) ey faar fe=

152, fe= Afecd & ariee el & o0 smamd g 2t w4

g7
(1) =TT FHIA (2) AT et
(3) Af-g FrT (4) dr{aas F=

153. 2949 4 & e aifew & snlRae =1 =@ =8 & 7

(1) 9THEH= 21H (2) T=IIEE
(3) AT (4) MEEAY
154, Yfteqrl & 71 = w2 7
(1) Hegrard (2) TATSATEE
(3) FeeTHTEE (4) TR
155. ‘Gear &t &<t =1 gean wfa Faa " ¢
(1) IH=EE QIaT (2) "HEET gae fza9
(3) S BEEE (4) W& FigArad
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156. 398 § P9 SN & o A8 & 7
(1) Fgeed T4l (2) 9EHTE
(3) B=fie T (4) gedieer Al

157. =99 @ FIT HA SIS AT & oFria qE 8 7
(1) straE (2) ATHEE
(3) HET (4) {a&rd

158. =8 @ B WS B A< TG T 7
(1) ferd (2) P¥TH
(3) GTHTH<EH (4) <<y

159, =8 § FF-Gl AT dferd Jewg STadl @it T& ¢ 7
(1) 9gHEd (2) STREd =Harr

(3) T@EC (4) FMEd!

160. 299 & @ FEjeT widdara @ wfg 8 7
(1) feaeRas (2) Sraw@rd
(3) AT (4) TH@M

161. ‘Uq=zsr fpg ofa & @ 8 7
(1) gerdierd (2) HLEETH
(3) HATHTETH (4) BEIH
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162. A BReT= [%hd TR & Fard 9 7
(1) 9T (2) A9TA
(3) sclTBTER (4) F9H

163. HeEX 9y9E f&adt &g aFes 3 dues o ?

(1) "rgh (2) gem
(3) RB= wdig (4) XTI

164. $H 8§ HF-H = Aferedt 9o @ H GG 2 2
(1) g gaa (2) dEgd
(3) Hreh (4) STA=E gy

165. 378 @ HE-dI HBH! JH=E H TE T ?
(1) 9 gEHEY (2) FE i
(3) FHHATIT Fi B (4) FIHH BT G

166. ‘Y &1 3T T A fFaq &ar & ?
(1) seuf| (2) T
(3) =i (4) ST

167. 399 & del 9T T 8 7

(1) gog=ig (2) gogHE
(3) gaf~a (4) GO
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168. forell wem # 25 a9 ol HT A T FAR Sl ©

(1) @ofog=d (2) Ea gl

(3) ToTaSTE=AT (4) BIEGHTI!
169. ‘Fssfifaar a1 a72d 2 ¢

(1) Stra_ &1 @ (2) SHE< bl T

(3) SHas = T (4) STl F=B1

170. ‘&g’ &1 [FaH B

(1) Tmed (2) BT

(3) A (4) I
171. &Y wu gl & =7 spefamen o=z 2

(1) Farepl (2) MRt

(3) feemsT (4) ez

172. Fr=fafead & & ®F-a1 Qeeg ‘gt & qatgare] 7@l 2 7
(1) ST (2) |9
(3) & (4) agH

173. 3UET &1 9F0T 1 € -
(1) /= & 9" H (2) 9/ & 3T ¥

(3) o= & Heq H (4) Uw AT Hd i H
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174. 579 & %9 9z & geam o1 o B 2
(1) e (2) HEHT
(3) §YH (4) af==

175. =it & 5e 95 & srerfsrr aurg 2 7
(1) Term (2) AR
(3) wfarfas (4) FHAT

176. 399 § HIH-A1 aodq 9= &

(1) =Tt (2) gTERIT
(3) I8 (4) ordT

177. ‘ST I =7 897 &1 Hef T

(1) ¥gd g={ 80 (2) FBd g &M
(3) FgT Rt & Rearft 3w (a) st B

178. ‘Gl | a1 sfp=m’ a1 aref § -
(1) gr/ar @r=n (2) gEaT T
(3) =@ BT ST AT (4) oot &

179. 379 | @ 9= H-91 & ?
(1) shHaf= (2) Haa=T
(3) =HfafrE (4) FHaZT
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180. 27 A ‘TG & GHEH B & 7
(1) TTIHT TEE (2) T
(3) Sl &TE Sgadl (4) I
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ROUGH WORK
% &1
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